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1.1 [bookmark: _Toc114387727]Correction to f_TC_7_1_1_5_5_NR_TestBody
	Function name
	f_TC_7_1_1_5_5_NR_TestBody()

	Reason for change
	The timing at Step 7 results in the same timing as in Step 3 as a result of the change proposed in TTCN CR R5s220470 for Step 3. Due to this, the Data at Step 7 does not get sent out.

	Summary of change
	The timing at Step 7 should take the timing calculated at Step 5 as reference to calculate the timing which satisfies the condition [(SFN * 10) + subframe number] modulo drx-LongCycle) = (drx-StartOffset) modulo (drx-LongCycle))

	TTCN module
	DRX_MAC_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function f_TC_7_1_1_5_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.5 : DRX Operation / Short cycle configured / Long DRX command MAC control element reception
     */

    <<SKIPPED CODE>>

    //@siclog "Step 3" siclog@
    //@sic R5s201495 R5-206319 sic@

    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal));
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID_SCG_Bearer, v_EncodedRlcPdu1) };//@sic R5s211665 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset); //@sic R5s220740 sic@
    
    // The other things in Step 3 automatically taken care by SS
    //@sic R5s210582 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));

    //@siclog "Step 5" siclog@
    // 5 ms later configuere SS for normal CRC error mode
    // In the Last PDCCH occasion befor on duration timer expiry
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInSubframe * (tsc_DrxOnDurationTimer - 1)); //@sic R5s201495 R5s210677 sic@
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_DRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2));//@sic R5s210677 sic@
    
   //@siclog "Step 7" siclog@
    v_Timing := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset);
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL));//@sic R5s210677 sic@

    <<SKIPPED CODE>>







After Change:
	function f_TC_7_1_1_5_5_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC
  { /* L2/MAC
     * 7.1.1.5.5 : DRX Operation / Short cycle configured / Long DRX command MAC control element reception
     */

    <<SKIPPED CODE>>

    //@siclog "Step 3" siclog@
    //@sic R5s201495 R5-206319 sic@

    //f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal));
    v_EncodedRlcPdu1 := f_NR_RLC_AMD_FullPDU_Encvalue(0, tsc_NR_P_NoPoll, f_NR_PDCP_PDU_Encvalue(cs_NR_PDCP_PDU_18B(0, crs_NR_PDCP_SDU_36B)));
    v_SDU_SubPDUListDL := { cs_NR_MAC_SDU_SubPDU_LI8(v_LCID_SCG_Bearer, v_EncodedRlcPdu1) };//@sic R5s211665 sic@
    v_MAC_PDUListDL := { cs_NR_DL_MAC_PDU_SDU_SubPDU_Padding(v_SDU_SubPDUListDL) };
    v_Timing1 := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset); //@sic R5s220740 sic@
    
    // The other things in Step 3 automatically taken care by SS
    //@sic R5s210582 sic@
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing1), v_MAC_PDUListDL));

    //@siclog "Step 5" siclog@
    // 5 ms later configuere SS for normal CRC error mode
    // In the Last PDCCH occasion befor on duration timer expiry
    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_SlotsInSubframe * (tsc_DrxOnDurationTimer - 1)); //@sic R5s201495 R5s210677 sic@
    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing);
    v_CE_SubPDUListDL := { cs_NR_MAC_CE_SubPDU_DL( cs_NR_MAC_DRXCommandSubHeader ) };  //
    v_MAC_PDUListDL2 := { cs_NR_DL_MAC_PDU(v_CE_SubPDUListDL, omit,  cs_NR_MAC_Padding_SubPDU('000000'O)) };   // 2 byte sub headers +3byte Padding header= 40 bits
    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2));//@sic R5s210677 sic@
    
   //@siclog "Step 7" siclog@
    //WA#     
    v_Timing := f_NR_GetNextSendOccasion_7_1_1_5_X(nr_Cell1, v_LongDRXCycle, tsc_DrxStartOffset, -, v_Timing);    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL));//@sic R5s210677 sic@

    <<SKIPPED CODE>>




1.2 [bookmark: _Toc114387728]Correction to f_NR_GetNextSendOccasion_7_1_1_5_X
	Function name
	f_NR_GetNextSendOccasion_7_1_1_5_X ()

	Reason for change
	The timing at Step 7 results in the same timing as in Step 3 as a result of the change proposed in TTCN CR R5s220470 for Step 3. Due to this, the Data at Step 7 does not get sent out.

	Summary of change
	The timing at Step 7 should take the timing calculated at Step 5 as reference to calculate the timing which satisfies the condition [(SFN * 10) + subframe number] modulo drx-LongCycle) = (drx-StartOffset) modulo (drx-LongCycle))

	TTCN module
	DRX_MAC_TC_Common_NR

	MCC160 Comment
	



Before Change:
	function f_NR_GetNextSendOccasion_7_1_1_5_X(NR_CellId_Type p_NR_CellId,
                                         integer p_DrxCycle,
                                         integer p_DrxStartOffset,
                                         integer p_CountY :=0 // in slots
                                         ) runs on NR_BASE_PTC return SubFrameTiming_Type
  { // Function does not consider drx-SlotOffset as it is always set to 0 in all 7.1.1.5.x test cases

    <<SKIPPED CODE>>

    select (v_SCS){
        case (kHz15) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology0;}
        case (kHz30) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology1(p_CountY mod v_SlotsInSubframe);}
        case (kHz60) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology2(p_CountY mod v_SlotsInSubframe); }
        case (kHz120){v_SlotTimingInfo := cs_SlotTimingInfo_Numerology3(p_CountY mod v_SlotsInSubframe); }
        case else {FatalError(__FILE__, __LINE__, "Invalid SubCarrierSpacing");}
    }

    
    //  2 cycles ahead is selected to provide enough time for SS
    v_DrxNumberofCycle := (v_SubFrameInfo.SFN.Number * 10 + v_SubFrameInfo.Subframe.Number + (p_CountY / v_SlotsInSubframe))/p_DrxCycle;
    //  2 cycles ahead is selected to provide enough time for SS
    v_DRXnumberofSubframe := p_DrxCycle * (v_DrxNumberofCycle + 2) + p_DrxStartOffset;
    v_SubframeNumber := v_DRXnumberofSubframe mod 10 ;
    v_FrameNumber := v_DRXnumberofSubframe / 10;
    //v_FrameNumber := (((v_SubFrameInfo.SFN.Number / v_DRXFrame) + 2) * v_DRXFrame) ;
    //v_FrameNumber := (v_FrameNumber + (p_DrxStartOffset / 10)+ p_CountY/(10 * v_SlotsInSubframe));
    v_HSFN := (v_SubFrameInfo.HSFN.Number + (v_FrameNumber / 1024)) mod 1024;
    v_FrameNumber := (v_FrameNumber) mod 1024;
    
    v_Timing := valueof(cs_SubFrameTiming(v_FrameNumber, v_SubframeNumber, v_HSFN));
    v_Timing.Slot := valueof(v_SlotTimingInfo);
    return v_Timing;
    
  };





After Change:
	function f_NR_GetNextSendOccasion_7_1_1_5_X(NR_CellId_Type p_NR_CellId,
                                         integer p_DrxCycle,
                                         integer p_DrxStartOffset,
                                         integer p_CountY :=0, // in slots
                                         template (omit) SubFrameTiming_Type p_Timing := omit
                                         ) runs on NR_BASE_PTC return SubFrameTiming_Type
  { // Function does not consider drx-SlotOffset as it is always set to 0 in all 7.1.1.5.x test cases

    <<SKIPPED CODE>>

    select (v_SCS){
        case (kHz15) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology0;}
        case (kHz30) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology1(p_CountY mod v_SlotsInSubframe);}
        case (kHz60) {v_SlotTimingInfo := cs_SlotTimingInfo_Numerology2(p_CountY mod v_SlotsInSubframe); }
        case (kHz120){v_SlotTimingInfo := cs_SlotTimingInfo_Numerology3(p_CountY mod v_SlotsInSubframe); }
        case else {FatalError(__FILE__, __LINE__, "Invalid SubCarrierSpacing");}
    }

    //WA#
    if(ispresent(p_Timing)){
        v_SubFrameInfo := valueof(p_Timing);
    }
    
    //  2 cycles ahead is selected to provide enough time for SS
    v_DrxNumberofCycle := (v_SubFrameInfo.SFN.Number * 10 + v_SubFrameInfo.Subframe.Number + (p_CountY / v_SlotsInSubframe))/p_DrxCycle;
    //  2 cycles ahead is selected to provide enough time for SS
    v_DRXnumberofSubframe := p_DrxCycle * (v_DrxNumberofCycle + 2) + p_DrxStartOffset;
    v_SubframeNumber := v_DRXnumberofSubframe mod 10 ;
    v_FrameNumber := v_DRXnumberofSubframe / 10;
    //v_FrameNumber := (((v_SubFrameInfo.SFN.Number / v_DRXFrame) + 2) * v_DRXFrame) ;
    //v_FrameNumber := (v_FrameNumber + (p_DrxStartOffset / 10)+ p_CountY/(10 * v_SlotsInSubframe));
    v_HSFN := (v_SubFrameInfo.HSFN.Number + (v_FrameNumber / 1024)) mod 1024;
    v_FrameNumber := (v_FrameNumber) mod 1024;
    
    v_Timing := valueof(cs_SubFrameTiming(v_FrameNumber, v_SubframeNumber, v_HSFN));
    v_Timing.Slot := valueof(v_SlotTimingInfo);
    return v_Timing;
    
  };






